
(1/2+1/4+1/8+1/16+1/32+1/64+...)

1+½+⅓+¼+1/5+ ⅙ + 1/7 +  ⅛+1/9+1/10 + 1/11 + 1/12 +1/13 + 1/14 +1/15 +1/16 + 1/17+...=
~log_2(n)

⅓ + ¼ > ¼ +¼ =2/4=½
1/5+ ⅙ + 1/7 +  ⅛>⅛+⅛+⅛+⅛=4/8=½
1/9+1/10 + 1/11 + 1/12 +1/13 + 1/14 +1/15 +1/16>8/16=1/2

1 сек
Доля от шнура
1/100000+1/200000+1/300000+1/400000+=1/100000(1+1/2+1/3+1/3+...)=
log_2(n)=100000
log_2(n)=log_2(2^100000)
n=2^100000=(2^10)^10000=10^30000 секунд=10^29992 года

Квантовая 
запутанность

Время
расстояния

Двухщелевой 
эксперимент
200 лет назад

Двухщелевой 
эксперимент с 
отложенным 
выбором (будущее 
может влиять на 
прошлое)
20 лет назад


